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_ |All questions are compulsory. Every question is written first in English and then in Bengali. You are to
answer the questions as directed. Calculation sheets supplied by the centre must be attached with the
answer paper. Calculator is not allowed to be used.

Group-A 12x2=24
Each question carries two marks. Four answers are given for each question of which only one is correct.
UNDERLINE the correct answer. '/,mark will be deducted for each wrong marking. Cancellation or over
writing is not allowed.

1) The pumber which is as much greaterthan 25 as iti is less than 47 i is

@ TG 25 (ACF TS TG, 47 (N 2 (B, (01 2~

a) 48 b) 36 c) 52 d) 44
2) Aman purchased some pens at Rs. 5 each. He then sold them at 20% profit. The selling price of each
pen (in rupees) is

9% e m%ff:smmﬁﬁwﬁwﬁm mﬁsﬁ GeTES 20% W%W| 2feft werraa s e
(o) 2

(a)6.50 (b)7.50 (c)7 (d)6
3) The lengths of the sides of a trlangle are 15 units, 25 units and x units respectively, then....
| o freTeR s Ond IR 15 G, 25 G TR X P LA

a) 10 £Xx £40, (b) 10 £X 40, c) 104X £40 (d) 10 Lx £40

4. The LCM and HCF of two numbers are 2376 and 33 respectively. If one of the numbers is 297, then the other number
. :
%3 W FAALE I3 5LALG IUGFTH 2376 @R 33 ; M1 7207 @b 297 2= W@ Wﬂﬂﬂ?m 2
a)216 b) 264 c) 642 d) 792

;. 2
$)If X is a positive integerand x*+ L:= 66 thenthe valueof * = 1% 2% g
x X

2
f_ﬂ G I T3

: X
a)-6 b) -8 c) 10 d) 12

x G0 G 7 WY1 TR 17+ —13-= 66 ==
X

6) The sum of interior angles ofa polygon is 1080°. The number of sides ofthe polygon is
@ IESLET TEFIGTAR- B 10800 ; ITFEI0A I Y TR

Q10 . . 6 )8

7 The compound interest (m rupccs) on Rs 1000 for 2 years at 5% per a.rmum lhc mterest being compoundad
annually is e e

1000 BT R 5% 2R 2 ISR 55 37 (O, qumﬁwwrﬁ)m
a) 102.50 b)10850  ¢)100 .  d)110




8) The following pie chart shows the proportionate expenditure on various items of a family having monthly
income Rs. 40,000. The monthly saving (in rupees) of the family is

' Sits7 +1iz-Bafdre w1 40,000 breet T ¥R (i wAfricas fRifow Rrarem wnpeifos <75 crar z |

©l A @ AR 5 2w 73 () e
avin,
a) 6000 b) 4000 c) 12000  d)8000 ' G “cuse;‘;‘“ .

.
: 3 .Inwrne tax » m T(ranspﬂrt)
: Y (amw) @ AR
9)1f2527 X 542 +5 64 = 5X then the value of x will be ond ()

aﬁzs 3,?){54_2 =3 6.4:5x@mmxmm EduﬁF:G“
a) 1.7 b) 3.2 ¢) 1.6 d) 3.5 e

10) The volume of a sphere is twice that of a cube; the ratio of their surface areas is
G CANTR Tt SRS T Toreter e, S s CRITTAT TGS TR

L 2 L
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11) Mayank walks 226m every day, he walks in five weeks (in kilometer)
T 2 226 {6 205, s Az ¢ B (RFEvr 9w w)

a)7.91 b) 6.57 c) 8.29 d) 9.41

12) BO and CO bisect the angles B and C of the triangl.e ABC.If ZA=60°, then/BOC is
BO @22 CO, ABC f&retea B @32 C (IR FARAE® 07 1 3 LA=60° 20 1= ZBOC 43 T T3

a) 160° b) 150° c) 1200 d) 110°.
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Group-B

Write only the answer in appropriate place after each question

12x2=24
13. The number 1521+ 11 is the square root of :

S W1521+ 11 @YD I oL =

AT
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: 1
14)If o+ -l7=! then the value of @'+ — s
7 a
1

s
Mo+ —=1 WER o'+ - WIN
a: d

Ans:

I5) Arightangled triangle may have its sides in the ratio. .
G T Agrea IRSTART TS (S ...,

Ans:

16) A school has 8 periods in a day, each of 45 minutes duration. If the school introduces 9 periods a day, the
duration of each period (in minutes) will be (assume the total time for school periods fcmains the same.)

G Regtern 2R 45 B =z 8 & PlRTe = | Rrerafbee off e oy wata RS o o Piftes
TR... (403 e RETs Aemimr o= FHS oab  «3% 2R )

Ans:



17) ABCD is a square. Pis a point on DC. IfDP=5 cm and area of triangle PBC is 42 square c¢m, then the length of
AB (incmunit) is ........

ABCD 36 35{0=1q | DC «3 &9 P «=3f% 7791 7 DP = 5 (5 32 PBC A D
frgrem craEa 42 3T W, O AB @3 0l (G1fY i) T3

J5 : :
l v

Ans:
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18) A point lies in the third quadrant whose distance from the x and y axes are respectively 3 and 4 units. The
Coordinates of the point are .....

O TH SR (1 [ x 02 y TP (U0 TP 3 32 4 G35 03 %S | Refon Zmiess 204
Ans:

l9} Ruma purchased a machine for Rs. 5400 including 8% VAT. The price of the machine (in rupees) before VAT
was added is..

L2 5400’6@1 «2fb 37 s% VAT 2 {34021 | VAT Q19 $21R 9ol 7553 1oy &t (5rm)...

Ans:

20) If 2= 93333..... , then the value of p + q will be ...
q

o L= 23333 W, ORp+qRIFTR..
q

Ans:

21) In aquadrilateral let S, be the sum of the lengths of the sides while S, is the sum of lengths of the diagonals. The
correct relation between S andS, is.......

aﬁﬁmwmﬁamwﬁ S, @ Tz AR Zﬁt‘iﬁ'ﬂ‘ﬂﬂﬁi S: =¥, O3 S @R S: WY &% FREN ...
Ans:

22) In the following table, the class limits of the third class and class boundaries of the fourth class are....
Sioa i gom e e Fi 93 vl il e e 7R
: Age group (in years)
14-16
17-19
20-22
23-25
26-28
29-31

Ans:

23) 60% of a number is added to 60, the result is the number it self. The number is .....
CRI TR 60% 3 AL 60 (1ol FACT (iorwFT AW R FRW1 =W, O SR ZA....

Ans:
24. The difference between the largest and the smallest prime factor of 14070 is...
14070 <3 "FHOW 933 JTEA NS SLAMRA 21T Z41...

Ans:




; Group-C 3x4=12
[Important steps of calculation, statements and proof wherever necessary are to be given)

25. Without actual division, test the divisibility of 5931 by 13,
AT 151 7 A 5931 A 13 A= RFrerey B «Fvw 33t

26) Factorise : 4a®~4ab+b*-9¢?
Beaits fAreet st s 4a>-4ab+b™-9c?

27) A milk tank is in the form of a right circular cylinder whose radius is 1.5 m and length is 7m. Find the
quantity of milk in litre that can be stored init. '
TR D i1 T IR (BITER APTS AR T JPAE 1.5m 3R 08 Tm, 4R G137 51 et A faefr




